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1.Underline the option that best expresses the meaning of  each of the sentences given below. 

1. I will inform them this. 

a) I will inform this them. 

b) I will inform them of this. 

c) I will inform this to them. 

d) I will inform them with this 

2. Our school is built by bricks. 

a) Our school is built of bricks. 

b) Our school is built from bricks. 

c) Our school is built out of bricks. 

d) Our school is built with bricks. 

3. He walked ten miles by foot. 

a) He walked ten miles on foot. 

b) He walked ten miles in foot. 

c) He walked ten miles with foot. 

4. The railway will compensate the loss. 

a) The railway will compensate the lose. 

b) The railway will compensate us for the loss. 

c) The railway will compensate for the lose. 

d) The railway will compensate us with the loss. 

5. When this was searched it was found. 
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a) When this was searched about it was found. 

b) When this was searched for, it was found. 

c) When this searched it was found. 

d) When this was searched it found. 

 

02..Of the options given below each sentence in bold print, underline the one that best expresses 

its meaning. 

   1) Kaveen kept me waiting. 

          a) Kaveen is waiting for me. 

          b) I was waiting for Kaveen. 

          c) I had to keep away because of Kaveen. 

    2) We saw the ship leaving the harbour. 

a) We saw the ship went off the harbour. 

b) We saw the ship and left the harbour. 

c) We looked at the ship and went. 

    3) Thilak stopped to talk to me. 

             a) Thilak has stopped talking to me. 

             b) I have stopped talking to Thilak. 

              c) Thilak waited to speak to me. 

    4) Nihal’s answer is far from satisfactory. 

              a) Nihal’s answer is very bad. 

              b) Nihal’s answer is very good. 

   c) Nihal’s answer is very long and satisfactory. 

     5) Shan found Ranjith sad. 

               a) Shan was sad. 

               b) Ranjith was happy. 

               c) Ranjith was sad and Shan understood that. 

 

 

 Try to answer similar questions in the past papers. 


